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1. [bookmark: _Toc122434488][bookmark: _Toc295288959][bookmark: _Toc71278441]Corrections required
0.1 [bookmark: _Toc71278442]Correction to function fl_TC_7_1_3_1_1and2
	Function name
	function fl_TC_7_1_3_1_1and2

	Reason for change
	The current TTCN implementation of 7.1.3.1.2 supports below cases as mentioned in the workshop document R5w210114.
1) Single NR_DRB_Common_IND with 32 PDCP SDU list (Received in same slot) or
2) 32 NR_DRB_Common_IND with 1 PDCP SDU (32 SDUs are received in same slot) 
The current loop structure works well for the case 2, whereas for the case 1 , the loop structure is not doing right comparison between expected and Received PdcpSduList

	Summary of change
	Loop is corrected so that Received and Expected PdcpSduList comparison is rightly done in case of SS receiving Single NR_DRB_Common_IND with 32 PDCP SDU list

	TTCN module
	ttcn\develop\NR_TC_Common\7_1_3\PDCP_TC_Common_NR.ttcn

	MCC160 Comment
	



Before Change:
	  function fl_TC_7_1_3_1_1and2(NR_PDCP_SS_State_Type p_NR_PDCP_State,
                               integer p_OuterLoop,
                               integer p_InnerLoop) runs on NR_BASE_PTC
  {//@sic R5-211387 sic@
<<< SKIPPED CODE >>>
    
    // EXCEPTION: : Steps 1 - 2 shall be repeated from j = 0 to j = FLOOR(Maximum_PDCP_SN/iteration_size). (Note 1, 4)
    for (j := 0; j < p_OuterLoop; j:= j + 1) { // @sic R5-197663, R5-197664, R5-202613 sic@
     //@siclog "Step 1" siclog@
     // SS transmits several PDCP PDUs in a PDCP PDU list without header compression, the number of PDCP PDUs sent in each PDCP PDU list is defined by the iteration_size. (Note 4, 5).
      v_PdcpPduList := f_GeneratePdcpPDUList(p_NR_PDCP_State, v_NumberOfPdu,v_Sdu);
      f_NR_PDCPPDUList_Send(p_NR_PDCP_State,nr_Cell1,v_PdcpPduList);

    // EXCEPTION: In Step 2, SS may receive a PDCP PDU or several PDCP PDUs, then step 2 may be repeated multiple times until all PDCP PDUs with SN=j*iteration_size to SN=(((j+1)* iteration_size)-1) for each iteration are received.
    // @siclog "Step 2" siclog@
    // CHECK: Does UE transmit PDCP PDUs with SN=0 for the first iteration and all PDCP PDUs for each iteration?(Note 2)
    for (i := 0; i < p_InnerLoop; i:= i + 1) { // @sic R5-211387 sic@
      // Get next list of PDCP PDUs received
      v_NR_L2DataList := f_NR_PDCP_PDU_GetList(p_NR_PDCP_State); //R5s210395
      v_LenPDUList := lengthof(v_NR_L2DataList.PdcpPdu);
       

      for (k := 0; k < v_LenPDUList; k := k + 1) {
        // set i to account for k
      
        i := i + k;
                   
        if (i == p_InnerLoop) {f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2, too many PDCP PDUs received");}; // check ok ???
        // extract the PDCP PDU to be handled
        v_NR_PDCP_PDU_Received := v_NR_L2DataList.PdcpPdu[k];
        // build the PDCP PDU expected (template)
        v_NR_PDCP_PDU_Expected := v_PdcpPduList[i]; // ith element in the currently used v_PdcpPduList
        // match the PDCP PDU to be handled against the PDCP PDU expected
        if (not match (v_NR_PDCP_PDU_Received, v_NR_PDCP_PDU_Expected)) {
          f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2, mismatch of received and expected PDUs");
        };

        if ((i == 0) and (j == 0)) { // SN = 0
          f_NR_PreliminaryPass(__FILE__, __LINE__, " SN=0 ");
        }
        else { // SN = 1 ..
          if ((((j * p_InnerLoop) + i + 1) mod v_VerdictFilter) == 0) {f_NR_PreliminaryPass(__FILE__, __LINE__, " SN = " &  int2str((j * p_InnerLoop) + i) )}; // @sic R5-185083, R5-187106, R5s200315, R5s200957 sic@
        }
      }
    }
    }

     //@siclog "Step 3" siclog@
    // SS transmits a PDCP PDU containing one PDCP SDU without header compression.
    f_NR_PDCP_Send(p_NR_PDCP_State, nr_Cell1, v_Sdu);
    //@siclog "Step 4" siclog@
    // CHECK: Does UE transmit a PDCP PDU with SN=0?
    f_NR_PDCP_Recv(p_NR_PDCP_State, nr_Cell1, v_Sdu, cr_RlcBearerRouting_NR(nr_Cell1));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 4");

    //@siclog "Step 5" siclog@
    //SS transmits a PDCP PDU containing one PDCP SDU without header compression.
    f_NR_PDCP_Send(p_NR_PDCP_State,nr_Cell1, v_Sdu);
    //@siclog "Step 6" siclog@
    //CHECK: Does UE transmit a PDCP PDU with SN=1?
    f_NR_PDCP_Recv(p_NR_PDCP_State, nr_Cell1, v_Sdu, cr_RlcBearerRouting_NR(nr_Cell1));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
    
  }



After Change:
	  function fl_TC_7_1_3_1_1and2(NR_PDCP_SS_State_Type p_NR_PDCP_State,
                               integer p_OuterLoop,
                               integer p_InnerLoop) runs on NR_BASE_PTC
  {//@sic R5-211387 sic@
    <<< SKIPPED CODE >>>
    
// EXCEPTION: In Step 2, SS may receive a PDCP PDU or several PDCP PDUs, then step 2 may be repeated multiple times until all PDCP PDUs with SN=j*iteration_size to SN=(((j+1)* iteration_size)-1) for each iteration are received.
    // @siclog "Step 2" siclog@
    // CHECK: Does UE transmit PDCP PDUs with SN=0 for the first iteration and all PDCP PDUs for each iteration?(Note 2)
    for (i := 0; i < p_InnerLoop; i:= i + 1) { // @sic R5-211387 sic@
      // Get next list of PDCP PDUs received
      v_NR_L2DataList := f_NR_PDCP_PDU_GetList(p_NR_PDCP_State); //R5s210395
      v_LenPDUList := lengthof(v_NR_L2DataList.PdcpPdu);
       

      for (k := 0; k < v_LenPDUList; k := k + 1) {
        // set i to account for k
        if(v_LenPDUList > 1) // Single NR_DRB_Common_IND with 32 PDCP SDU list 
        {
            i := k;
        }       
        else //this condition is to receive 32 NR_DRB_Common_IND with 1 PDCP SDU
        {
            i := i + k;   
        }

        if (i == p_InnerLoop) {f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2, too many PDCP PDUs received");}; // check ok ???
        // extract the PDCP PDU to be handled
        v_NR_PDCP_PDU_Received := v_NR_L2DataList.PdcpPdu[k];
        // build the PDCP PDU expected (template)
        v_NR_PDCP_PDU_Expected := v_PdcpPduList[i]; // ith element in the currently used v_PdcpPduList
        // match the PDCP PDU to be handled against the PDCP PDU expected
        if (not match (v_NR_PDCP_PDU_Received, v_NR_PDCP_PDU_Expected)) {
          f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2, mismatch of received and expected PDUs");
        };

        if ((i == 0) and (j == 0)) { // SN = 0
          f_NR_PreliminaryPass(__FILE__, __LINE__, " SN=0 ");
        }
        else { // SN = 1 ..
          if ((((j * p_InnerLoop) + i + 1) mod v_VerdictFilter) == 0) {f_NR_PreliminaryPass(__FILE__, __LINE__, " SN = " &  int2str((j * p_InnerLoop) + i) )}; // @sic R5-185083, R5-187106, R5s200315, R5s200957 sic@
        }
      }
    }
    }

     //@siclog "Step 3" siclog@
    // SS transmits a PDCP PDU containing one PDCP SDU without header compression.
    f_NR_PDCP_Send(p_NR_PDCP_State, nr_Cell1, v_Sdu);
    //@siclog "Step 4" siclog@
    // CHECK: Does UE transmit a PDCP PDU with SN=0?
    f_NR_PDCP_Recv(p_NR_PDCP_State, nr_Cell1, v_Sdu, cr_RlcBearerRouting_NR(nr_Cell1));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 4");

    //@siclog "Step 5" siclog@
    //SS transmits a PDCP PDU containing one PDCP SDU without header compression.
    f_NR_PDCP_Send(p_NR_PDCP_State,nr_Cell1, v_Sdu);
    //@siclog "Step 6" siclog@
    //CHECK: Does UE transmit a PDCP PDU with SN=1?
    f_NR_PDCP_Recv(p_NR_PDCP_State, nr_Cell1, v_Sdu, cr_RlcBearerRouting_NR(nr_Cell1));
    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 6");
    
  }



